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Instructions related to Examination
— reaeClo Lxamination o ¢ A2RAD

(l)gaugom%, mﬁa&ﬁmwwmm 1otr;;
fore Wy 2Rt .?}Wﬁg?ﬂ'm“oo
| ¥l e 01 (T9) s D &
Ther? will be 110 questions, atleast, out of which 100 will have to be answered, 10
questions (optional) will be on Rajbhasha. If any candidate answers more than 100,
the first 100 attempted question will count: Each question carry 01 (One) mark.
(2) NErit D1 AR, mﬁqﬁﬁmw/mmmﬂﬂmmmgl
For filling of OMR Sheet, use only Blue/Black ball point pen only.
(3)Wwwm$mﬁﬂdﬁﬁ1/3mﬁaﬁammaﬁﬁfﬁl
There will be no negative marking @ 1/3 mark for a wrong answer.
(@) TR A Rt A s @ oo, R, e a1 e o T 8 R
SR @ Siftg T8 @ S ek 9T R v oie Ry g
To ensure the authenticity of the answers, cutting, overwriting, erasing 0
any type in the answer will not be accepted and answer will not be evaluated, zero
marks will be given.
(5) SR GRaPT/ TR AE W e a1 TR @1 FEwER gAked R
Ensure signature of invigilator/officer incharge on answer sheet/OMR Sheet.
(6)@3vﬁaufmmﬁmAmBmcmD$a@smﬁa}mﬁﬁmaﬂwmw
yRa@T % W STRA 99 P afel O | W)
Select option as capital letters in English alphabet like A or B or C or D and circle the
correct answer (darken) in the answer sheet with ball pen only.
(7)%ﬁmmwﬂ$ﬁaﬁfﬁﬁmaﬁm$mﬁmw
A B |

In case of any ambiguity between the Hindi and English version, the English version

shall prevail.
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{. What is the length over body of | .
B g og7 TETE BT B FET P HH B! darg

gt 87
A] 23570 mm [B] 23545 M [D] 23565 mm
\ 40 mm
[C) 235 tted with CASNUB 22W retro

2. What is the maximum wheg dian,
ASNUB 22w ¥y ﬁb\%m’ of BOXN wagon ﬁa-r[::' @1 sftrepan ufg e

fitted bogie? C
el 87 R 7 @il BOXN
[A{VS: ‘t "m:]l;e distan}:?]b:f“s, o [D] 957 mm
3. What 1S een joyy, [C]956 mm.
Fx ¥ a1 g e @ UMl e (;l., CASNUB bogie? CASNUB &1t 0= Sr+fat
gA{szfi: he emggslié?g;:u:;ﬂ 1€)2262 mm (D] 2260 mm
iﬁswcﬁons?qagqaqﬁ%‘ﬁ*aﬁ;f; ON Whee] tread of BOX“N” wagons as per the latest
2 ) SR vy 7ot 3 N 38 TR AT HUTE FAE
gﬂf (\)th:t] wheel diam[etir6 fegxio [C] 58 mm [D] 55 mm
it o1 It AT EEg Wmn Brake agjystment of CASNUB bogie is done? CASNUB
[A] 17 mm Bl 18mm T P GR faqT STl 87 )
20 mm
6. How many shock absorbers ~ [C119 mm (D] .
S T ST b ey 29 6 in LHB Coaches? Tagadl @d # e e
-E'AJnliO r;?fzintenmce SE:llBllgSl(;s.i e. D [C] 18nos. [D] 12 nos. ]
ﬂSingJm:ﬁ gl WE’PTW% *¢- D1 of LHB Coach is done - ®Ig &1 feu Hey
[A] 7£1 days [B]15 days [C] Every Tri
P . ery Trip [D] 30 days
%algg mcé:ﬂ%})%v%l;c, thmug%;"hlch sub assembly the auxiliary reservoir is charged? 3]
AT G I { WeTe ST P =1 (3] Sl 82

[A] fafharger [ ti 'le’afger [C] A-Charger  [D] T-Charger
9. Brake power percentage of Air-braked CC rake at originati ion? URH €IA W

ginating station?
RSP Wil ¥ BT b UTaR UfRray

[D] 100%

[A] 80% [B] 90% [C] 95%
10. Condemning limit of composite brake block in goods train? HICRTIS! H HUNWIC b Sl

@1 a1 dtar

[A] 8 mm [B] 5 mm [C] 10 mm [D] 12 mm

11. Piston stroke of a loaded BCN wagon? ¥} §% i¥itA &7 &1 i W2
[D] 130 mm

[A] 145 mm [B] 125 mm [C] 135 mm
12. Sole bar of LHB Coaches are manufactured from - Q?ﬂ'ﬂiﬁ P9 & I §R 1 A
faan ST & -

[C] Ferritic steel (SS-409) [D] IRSM-44

[A] Austenitic steel (SS 304) [B] IRSM-41 . .
é 3. The Fire Extinguisher used in AC LHB coaches is - AC LHB P H "o SIS T
[B] DCP Type [C] CO2 type [D] None of these
SR A hY GIEIRT HRAT =R -

[A] Foam type
14. Fire Extinguisher should be refilled -
[C] After 1 year  [D] On every trip

[A] Every month  [B] Every 3 months

[15. Condemning height of EM pad? 0142 e D143

A] 40 mm [B] 41 mm mm mm
16. Where is Rail Spring Karkhana located? ¥ B HREF Hg R 82
[A] Gwalior [B] Jhansi [C] Bhopal [D] Indore



17. Beyond which temperature is the axle box considered hot box? fop g TTHA ¥ T TR
e ! gic afe 7T STl 8

[A]70 degrees  [B) 75 degrees [C] 80 degrees [D] 85 degrees

18. Maximum whesl diameter of BLC Wagon? ﬁlﬁﬂﬁ AT P affremerm ufgar oor?

[A] 835 mm [B] 840 mm [C] 845 mm [D] 855 mm

19. Hauling capacity of H-type CBC is? H-W®@R CBC il m el 87

[A]7000ton  [B] 8000 ton [C] 9000 ton [D] 10000 ton

20. During drop test of the rake the maximum drop permitted in BP is &P 3’fq e
N st A sifieam ke # sl @

[A]0.2kg/em2  [B]03kg/em2  [C]2.0 kg/ cm2 [D] 0.6 kg/ cm2

21. In case of brake binding on one brake disc of one wheel set of LHB coach what you do first

wﬁwwaﬁaw*wwwme%mﬂmmm

[A] Check dump valve [B] Check WSP fault

[C] Remove brake caliper pin [D] Loosen slack adjuster nut of brake cylinder
22. Brake accelerator is connected to - S UaRIaNeR NEN % -

[A] FP pipe [B] BP pipe [C].BC pipe [D]botha & b

23. What is the name of cable provided for hand brake? %’3 3% & forg ueH Gl 113‘ e 1
THH?
[A] Hand brake cable ~ [B] Flex ball cable. [C]Botha&b  [D] None of these

24. Cut off angle cock can be fitted to? B M T Biep T ol Wbl 82
[A] FP [B] BP [C] BP & FP both [D] None of the above

25. When brake is manually released by QRV, which pressure will be vent out? SI& Eﬁm
SRIS® P AN Y Y SIS 8, O DI 1 G819 SR Feped ST

[A]Bc pressure  [B] Ar pressure [C] Bp pressure [D] Cr pressure
%6. The color code of helical spring of ICF bogie is? ICF 817t % fRtare i &1 377 PIe &I
?

[A] Yellow,blue,green [B] Yellow,red,green  [C] White,blue,green  [D] White,red,green
%7. Lateral movements of wheels are controlled by? Ufgal @t uref ey frerds grr
) :
[A] Axle Guide [B] Journal centre [C] Roller bearing [D] Dashpot
28. Means of WRA is? WRA T HATd 87
[A] Water raising apparatus [B] White race assistance

[C] Water recording agreement [D] None of the above
29. Permissible variation in new wheel tread diameter on the same axle on BG bogie wagon

is? doft aRf 3T IR U € voea R U e ¢S o A Wlierd e & g

[A] 0.45mm [B] 0.5mm [C] 0.35mm [D] 0.3mm
30. The applications of Dump valve is - §Y dlcd &1
[A] Only braking [B] Only De-braking

[C] Both braking and de-braking [D] None of these
31. Which type of CBC is fitted in LHB Coaches? mmﬁmwwmm
bl R £ th

[A]E [BIH C1EH [D] None of these

32. The CBC fitted on LHB coaches has[fe]ature. Qﬂm Pl | ol i 3t fodwar 31
[A] Anti slipping  [B] Anti rotation  [C] Anti climbing [D] Anti Creeping

33. Width of FIAT Bogie is - FIAT @1t it TS & -

[A] 3030 mm [B] 3240 mm [C] 3040 mm (D] 3010 mm



34. What is the advantage of d&mpers? 2 ; wraal (-4
[A] Suspension may be increased P ﬂing index may
[C] Comfort may be increased [B] Rid

fabove ST HA TR
35. Capacity of under frame watey t Dy All 0 Q?ﬁ/3 few ! il

be improved

an . 113 tief.

¥ 3 &wan K fitteq jy AC/3 U oL
[A] 650 Ltr. [B] 685 Ly, €] 400 L. ag]h M
36. Of which brake van the quick Oupling g 1 [ 0 Rl VM
[A]1BVZT [B] BVzX . 'E [])Bi}VZC %Ib_)] P
37. What is the length over Headstock of the B(ng wagon? BOXN GUC|

& 9848mm
[A] 9774mm [B] 9784mm C]9777mm (D]
38. Gross load of the BOXN wagon js9 BOXN i &1 9@ HR fparl 87 "
[A] 78.92t [B] 81.28¢ [D] 88.8

6.78t )
39. In accident manual, train parting is un, der? g[ﬂ-c_i,]; ﬁ'ﬂ'ﬂ'ﬁ(—'ﬂ pi aq 37 e ]
(A]Jclass [B]Kclass [C] C cless [ ]%]T;?Er?lsqgﬁ’r POH
40. Newly built BOXN wagon first POH periodicity is? FafAfifd BOXN

Safesar a2

[A] 4.5year [B] 5.5year - [C] 6.0year [Dmaé%qqa'lﬂ
41. Newly built BLC containers wagon first POH periodicity is? 14

T QAT Safiiee &

[A] 4.5year [B] 2.0year [C] 6.0year [D] 3.5year

42. Torque value of Cartridge type roller bearing cap screw is? PIICS YPR ®
BY T Pl A 22

[A] 42.0kg-m. [B] 40.0kg-m. [C] 38.0kg-m. ] 44.0kg:m.
43. C-class ODC shall be moved during? T.aerg 7| EEE)!H
E] L2111

[A] Day light  [B] Day-night time  [C] Only night time [D] None of the above
%4. In CTRB the grease use per Axle box is? CTRB ¥ Wil Ued sfad # 1 &1 SN gl
‘7

[A] 455+30gms [B] 490+15gms [C] 500+35gms ] 550+20gms

45. The condemning diameter of BTPN wheel is? BTPN ®1¢l &1 g2

[A] 813mm [B] 990mm [C] 906mm [D] 860mm

46. Periodicity of POH of OCVs on mail & express trains? B TR INGidl & qafieg @t
Safedbar

[A] 24 months [B] 18 months [C] 36 months [D] 12 months

47. What is the wheel base of an ICF bogie ? ICF &7}l &7 CiRER Ll %?

[A] 2898 mm. [B] 28864 mm. [C] 2883 mm. [D] 2896 mm.

48. What is the interval for cleaning coach water tank? H19 ) T} Bt Ta) &) qPTE T
ST &1 82

[A] 15 days [B] 25 days [C] 01 month [D] 02 month

49. The CBC fitted on LHB coaches has - TAUTE! aﬁa‘rwaﬁiﬁaﬁm H.

[A] Only pulling action dl Wie= @1 b4l [B] Only buffing actiondaa st i
[C] Both pull & Buffing action [D] Either a or b

50. The main function of anti roll bar is - {1 e SR &1 7@7 Pref 3 -

[A] To allow rolling action of the coach ®Td 1 Afet 3| I[P Ry
[B] To prevent Rolling action of the coach ®Td Bt JfdT fay PP P fo

[C] To provided strength for bogie 8171t P HOISH UG

[D] To negotiate the track curve 233 CEREIREIRE e > ﬁlq

3



51. The NRV is provided in TT3{Rdl m}f l:ﬁﬂ%
[A] BC line [B] BP line [CFF line [D] All above

. . ) : life : D"
52. Coaching stock accident involving human ®Nquiry by Wrg Mg Gﬁ‘} CAIEUETE]
T 3 wif R gy a8 T

[A] PCME [B] CRS [CLS;- lDME [D] ADRM
53. If the silent block of traction link shifted to one Side the traction link - G 1] i Gl
Sl U W ARG g 9 af BV Rt "

[A] Must be replaced (B] Not tequired re
[C] Can be allowed for one trip

. one of thege
34. The movement of sliding doors can be adjusted by - Tl TR
e o e 2 - R
[A] Adjusting of cylinder RIdISR T GHISHT  [B) o4

justing of belt g &1 YA
[C] Adjusting of cylinder screw RieieR Ll mﬁ:’;{ [D] All of above Yaft
35. Yellow strips on end body of ICF indicate is? ICF e e o et
E Ut g

[A] Antitalescopic T RIE [B] Dual brake REREC
[C] Inbuilt airbrake S WR§® ~ [D] Non-Antitalescop QA CRGren e

placing

6. What is the purpose of manipulator? WWW%?
[A] For testing roller bearing [B] For down hand welding
[C] For ROH

[D] For brake ringing Adjustment
27- How many brake discs are provided on'orie LHB axje? U TTEs Tod W fbed 3
S g e

& s
[A] One [B]Two - [C] Three [D] Four

J8. By pass system is used in brake system when - WMﬁﬁwmmmﬁ
o ST & e - S Tl |

[A] F.P pipe broken [B] B.P Pipe broken  [C] Hbéé,pipé broken [D] Any of these

59. "PEASD? provided in LHB ca be reset - TTTasl & 27 0 "pEASD % e frar
[A] From under gear of coach only CICk 2 G'IS? iR @ Gl

[B] From anywhere of inside coach ﬁa?a{a ﬁﬁ ot

[C] From the point where chain pulled 5181 & I Wi TI'{'

[D]BothA&B A 3R BN

60. If microprocessor of WSP shows 72’ code means - Tf¢ WSP BT AZDHITRR 72 Bl
feaman 8 < 5wt Hawe 3 -

[A] Temporary fault at one axle, T& E{ﬂ TR Iyt el

[B] Permanent fault at several axles. iﬁg {R‘f TR Wit @t

[C] Volatile fault 3fRR &1y

[D] Permanent fault at one axle ‘{m TR R SR

61.The perimeter of a right-angle triangle whose sides that make right angles are 15 cm and 20
cm is:

Wmﬁwﬁwwmmwmmls cm 3R 20 cm P &
I N

[A] 60 cm [B] 40 cm [C] 70 cm [D] 50 cm



' a Cistern ¢
are open, the time icllslt]cm in 8 hoyy .
Ud 98 U dg) % . %‘%‘S taken ¢, 1‘:11(11 1(|l'lothcr ttl[?nc“:"
ill be !
g g A %W%Eh;\%qagﬁ |6ﬁ?ﬁﬁﬁﬁﬁm%l ofe
[B] 10 l aen @ @ Fm:
(€] (D] 24
63. Iftanx = 6
tanx iot(408:t(:§riz and Qo <X <9(o then Whﬂt is the value of x 7
[A] 14° [B o 2X) am 0 < 208, Eﬁ « F1 A T ﬁ
112 " T 16

empty itin 16 hours. If both the taps

[A] 8

64 I x [C) 21°
. "y=4andxy=3 th . - =
ﬁ\]—ss Va en'wh““lqs]:t{hevalueothy’mﬁ"’y“;‘Z{m"y 3%’?‘1
: [B] 100 (] 64 [D] 28

65.A .
sum fo money lent at simple interest amounts to 29,920 after 2 years and to 12,800 after

5 years. Find the rate of interest per annum

B
<‘:lTi%liFj\rmWﬁaﬁaﬁé@‘F"Tﬁf2a'l5f%l$a1a29,920%I%ﬂ5?:rlifaﬁn'c:271:’)23,{800‘@Tﬁrr%ﬁ%;

S|

™
[A]18% [B]9.68% [C] 12% [D] 6.57%
66. Th ) : NPT -
b (l; ;’giglm)lﬁ; :of a right circular cone is 462 cm’ . I its height is 12 ¢, then the area of its
T TS e S 1 T 462 e % ot e e 12 o B, TGP MU 1 &7PT
(cm* H ) I HY I
[A] 124.5 [B]103.5 [C] 115.5 [D] 98.5

67. 12 pumps working 6 hours a day can empty a completely filled reservoir in 15 days. How
many such pumps working 9 hours a ;\? will empty the same reservoir in 12 days ? "
j|

12 Uy e 6 4 P Y U 1R U TR B 15 Pt 3 reht R Hend
mﬁmuﬁﬁﬂ9u‘%mmeﬁTwﬁlzﬁ#fﬁmﬁm%ﬁ?
[A] 15 [B]9 [C] 10 [D] 12 :

68. The compound interest on a certain sum of money for 3 years, compounded annually, at a
rate of interest of 10% per annum is ¥1,324. The sum is:

maﬂmmﬁbm@mmmmﬁmﬁnﬂﬁ&w&rmo%mﬁbma
@36&@3&@?%21,324@?{1%1@%6%&1

[A] %4,000 [B] 5,500 [C] %5,000 [D] 4,500
69. A fair weather friend means
[A] an unreliable friend [B] a dependable friend

[D] a jealous friend

[C] a friend turned into an enemy

best expresses the meaning of “FALLACY”

70. Choose the one which .
[B] mistaken belief  [C] smart move [D] unfounded fear

[A] famous invention

71. Choose the one which best expresses the meaning of “AUGURY”

[A] Future [B] Astronomy [C] Prophecy [D] Intention



¢ meahi
72. Choose the one which best expresses th g of<

‘ [C] By, DISPARAGE”
[A] Discriminate [B] Scatt® able [D] Belittle
, ing to “VER
73. Choose the word opposite 1 meaning [ nuggls »
[A] Lucid [B] Succinct ' [D] Intention
. . “HA
74. Choose the word opposite in meaning to : Hulrjn(l})?TY”
[A] Pitiable [B] Scared ’ [D] Cowardly
' uE
75. Choose the word opposite in meanllng to U[E?SISED”
[A] Condemned [B] Flovie te have 4 SePProveq [D] Disparaged
b inctitute
76. Recently, researchers of Wh‘%]_rgsmu ' ~velo e%a Novel and ggfer method to mass
produce recombinant proteins? ' o | a3 A _
o N P S miﬁngsc) * ﬁmama;%? e
[A] Indian Institute of Scienc ﬁﬁ'ﬁ

. i RiRc
[B] Council of Scientific & Industria] Research (CSIR) (eﬁm
[C] Indian Council of Agricultural Research (jcapy WhE g

[D] National Institute of Biomedical Genomics (NTBMG) ﬁwmﬁ; fg U IReg
Eigiitca

I e
77. Which institute recently established ‘DRDO'Ind“s‘TY-Academia Centre of Excellence’?
mﬁﬁ%&@mﬁ'nmo-ﬂﬂ-w'am ST RITHT o '
[A]IIT Hyderabad ~ [B]IIT Bombay ~ [C]IIT Dejp; [D] IIT Kanpur
78. Which institution suggested the 'creatioh of “Atificia] Intelligence and Data Authority of
India’? fobg ey mwﬁgmmmW%ﬁﬁmmw

? el _ |

[A] DoT [B]NASSCOM [C] TRAL [D] NITI Aayog
79. What is the name of India’s first space-based observatory, to

f be launched in September
20237 Ridfar 2023 & il 8 aTelt WIRd 1 v sfRer.anenfe 3

_ YRITE &1 19 71 87
[A] Arun-L1 [B] Aditya-L1 [C] Kathir-L1 [D] Surya-L1
80. Which country launched ‘100 Practical Use Cases of Generative Al in Media.’? {5 Ly

A HiEm ¥ SRfeq a1 F 100 RIS IUGHT & Wiy if fpy

[A] USA [B] Australia [C] UAE [D] France

81. What is the correct name of premature death of cells and living tissue? CaINEaRT] T4 Siifad
SAD! B SRS g 1 T8 1 wy 2o

[A]  Neutrophilia  =ggIfthfera [B] Necrosis URITeH
[C] Neoplasia T8It [D] Nephrosis WRIRIG
82. What is the 4th state of matter? uery o} et s A g _

[A] Bose-Einstein condensates WG{B@T{ Yuf¥d 84 §  [B] Plasma WA

[C] Gas g _ [D] Liquid e

83. Protein is made up of which of the following? T frafer A 4 forerdt 51 g &
[A] Sugar T} [B] Amino acid 3HFI TR
[C] Carbohydrate FTafgrade [D] Fatty acid ¢ TS

%4’ Which among the following has highest velocity? ﬁm?‘ B fore an v ot
?

[A] Hurricane g8+ [B] Tornado TR [C] Typhoon qwH  [D] Cyclone qhard



85. Which of th .
TP ¢ fOIlowmg is th

[A] ‘\r%qq " Unit o Solid /\nglc?l feed & & B ST iy ®
radian :
Bl o Ple does th :

Ydraulic 1ig, works? BEGIE RIF fFg Rigiq me &t
[B] Joule's law

v [C] Newton’s law  [D] Archimedes’s law

- VS Arunachy
Rt s @ 3 R By
[A] Sportsperson f@m—@
[BIPolitician

(C] Former Naygj Admiral e SRy TS

D] Fooner DRDO Direcyoy General Samradian T e
88. Which among the following is

P vy

First Indian Special Economic Zone (SEZ)? foffea g

» Who pagseq away recently? 3. A1 T, 3SUT=e S Y

[A] Visakhapatnam S5y & (SEZ) & [B] Kandla SEZ
[ Nm'da Special Economic zope [D] Cochin SEZ )

- S lch %?he following chemicals js responsible for temporary acid rain in %older regions?
Faffe I T 53 ¥ SR ot awf & forg Rrer &2
{A] Hydogen chlorige [B] Sulphur dioxide

C] Nitric acid [D] Ni :
) trogen oxides
- Which among the following ;g called Laughing Gas popularly? FERIRT & ¥ frd)
0 EY @l g G INE

[A] Nitric oxide [B] Nitrous oxide [C] Nitrogen penta oxide [D] Nitrogen
91. The rules relating to giving/taking of dowry is contained in Rule No.___of Railway
Services (Conduct) Rules, 1966,
[A]13 [(B]13.A [C] 18(3) (D]
16
92. — formis used for placing a Railway employee under suspension,
[A] SF-2 [BISF-1 [C] SF-4
SF-3

(D]
93. Permanent Pension Account Number will consist of RTA} U G = e Rl
[A] 12 digits [B] 14 digits [C] 16 digits [D] 20 digits
94. Money allotted for purchase of stock items is called Wi 'ﬁﬁe'ﬁ o e m rafeq
CE| L2l &R S
[A] Purchase money [B] Purchase balance
[C] Purchase suspense [D] Purchase gran
95. Rule 25.A of the Railway Sefvant (D&A) Rules deals with
[A] Appeal [B] Revision [C] Review

[D] Suspension
96. Which rule of the Railway Service (Conduct) Rules, 1966 deals with prohibition of sexyal
harassment of working women?
[A] Rule 3 [B] Rule 3A [C] Rule 3B [D] Rule 3C

97. Under which rule of the Railway Servants (Discipline & Appeal) Rule, inqu
mandatory?

: ii C] Rule 15(2)(ii)
A] Rule 11(4)(i B] Rule 14(ii)) [ ) .
[98] Tlixl:. det(aiiic)l distrilEution of budget allotment made to railway admi

iry is not

[D] Rule 17(ii)

nistrations.is contained
in'mmﬁmwwmmmﬁmmﬁ%ﬂ%;
[A] ’Yellow book [B] Greenbook [C] Pink Book  [D] White Paper

7




99. MRVC icles & Carrierg
[A] Modernization for Railway t\cl:h‘c
[C] Mumbai Rail Vikas Commil

100. RCT - y LIF

[A] Railway Compensation Tribun®! lDlI uff:i' Way Claimg Tribunal

[C] Research for Curve Tracks WW% Way Copyright & Trademark
m.qmmmmmf{gaw'“' 1 ) et el ) e
fram Wl 67 .

[A] %0 500/~ [B] T 250/ .
102, TR TG ng,:ﬁﬁgy O ) ) 73 areht e 1
w%w@ mmiwmm [B]6000/.m06 e

9000/- ¥93, 06 | I
{é]] 6000/- T, 05 BT Feqec-avd (D400, T, 05 A e ot

103.@3591@11@@%;%121965W3ﬁ?¥ﬁ*"m‘i@wwzﬁamaﬁ=r-@w

YRS oMY 7 .
[A] 8 T Ty e 7o TR XTSI

[B] 3Fieh 7o oy T ) WET XTSI

(] TR T TTarTeT T 3G, T Yo

(D] el TS THIN a1 9g TerIP WW'

104. ¥ 1976 # féq HHH Wﬂﬁﬁ 35%?{3%:{ Dy

[A] 39 Bgal [B] Sierd ARV i
[C] TTER /X (D] fe& qE@HGE

105, Hﬁmmtumxvn%ﬁlﬂ@ﬁmﬁmﬁamw -

[A]26.01.1950 [B] 14.09.1949 [C]17.09.1973  [D]15.06.1963

106. ITTMTYT YHeq 1968 Y TG B GRT U oy 1y -

[A] HIGHT [B] XTSAHHT

[C] SHGUT ITHT T DEEEEIEERR

107. G @} TrHToT A eI SFTEG 343 W WS 351 P Iokg WRYH P g U
2

[A] HT7T-15 & B] Y178 [C] YFL-18®  [D]TH @ P T

108. fob1-fb=1 15t & 3 1 wrvTen & A e o T &9
[A] T R 4 f9gR [B] ST FHRHR T 31y eV
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